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OMASMHIL=CIMAIBE 89,025,000 * 14 89,025
T 22,256
a 66,769
OMASTHIH: QIAAHHE (F1)
11,775,0003 * 141 11,775
JESANYR =4 17,600 17,600 0
201 2Er2gH| 9,600 9,600 0
01 At 2teldl 3,600 3,600 0
oget+=EH] 3,600
Ot S AMFRE &3H8l  200,0002 122 2,400
Ongeed =Y 300,000 *43] 1,200
02 S22l 6,000 6,000 0
O oZe AYAIE 28 S22
600,000& <102 6,000
202 04Hl 8,000 8,000 0
01 =Wl 8,000 8,000 0
Oozdz=sigd g2=d 50,0003 x3H x32& 4,800
OL-QHIQYBE AR
50,0003 x2H »32& 3,200
LOIESMEIA 2RAAMS (P . SHEAANMIZO0I 55,202 62,130 26,928
)
T 11,040
a 44,162
307 212tol & 55,202 62,130 6,928
T 11,040
= 44,162
AR SAAIE 22X 55,202 62,130 6,928
O =8Jl=AHlA 2SN ALY
55,202,000& * 14 55,202
S 11,040
a 44,162
Sk ssdEn 43,600 35,700 7,900
S 21,800
a 21,800
307 212tol & 33,600 35,700 A2,100
T 16,800
a 16,800
AR SAAIE 22 33,600 35,700 A2,100
O=HEQ =sdEN =34
33,600,0002 141 33,600
S 16,800
e 16,800
402 212t =01 A 10,000 0 10,000
S 5,000




SN FoI=RA
M Lol= =3
ol S SMEOE Y (=L R0
SA - HH SR (B) - MRAY - BAS il &t e imE=T
o 5,000
02 Q2R 2AILEE(OIXTHE) 10,000 0 10,000
OS)H=Q ZEMEE PH(F2ZE)
10,000, 000& * 14! 10,000
= 5,000
o 5,000
SENLSETHMHC St ML 2EXA 57,816 58,592 ANTT6
| 28,908
o 28,908
307 SIZ2t0I A 57,816 58,592 NTT76
| 28,908
i 28,908
11T AL =S XA 2 & 57,816 58,592 NTT76
OSH-AZZT0HO STAHLYNYIA 29
57,816,000& 14 57,816
| 28,908
o 28,908
Lol =E=4l ¥ olol=dl K& 781,200 760,500 20,700
201 YEr2ZH] 11,200 10,500 700
01 At 22|l 11,200 10,500 700
O Et=+=2t| 11,200
Oo== 2 0|08 ArEd MH
703 8,000 2001 11,200
301 YetB A= 770,000 750,000 20,000
01 AZIEEE 2563 770,000 750,000 20,000
O©==4dl ¥ ol0I=Hl 5,000& *7, 700 +200H 770,000
COFHANREEH &#=H K& 2,400 1,200 1,200
& 720
i 1,680
307 SIZt0I A 2,400 1,200 1,200
= 720
s 1,680
M ARISXAIEE X 2,400 1,200 1,200
OLeHAXJHEH &=Hl 200,000 122 2,400
& 720
s 1,680
LOISEMBIA(SIIDIAIMEIA SO BX) 1,080 971 109
= 760
= 160
o 160
307 SIZ2t0I A 1,080 971 109
= 760
= 160
o 160
05 BIZtRAE S 1,080 971 109
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SN FR=RA
Ha: Lolgx =8
el CSME0tE X (ctel:®2l)
- - PSLE]
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
OLQISEMUIA(SHIIIIALMEIA S EX)
1,080,0002 * 14! 1,080
2 760
= 160
2 160
HYPLOX)|QUPE 2oueeaz e 81,600 63,000 18,600
301 LerE A 81,600 63,000 18,600
01 AFBI B & H 45612 81,600 63,000 18,600
OHYPLOAIQUBS =olgmgaz 12
81,600,000 *14! 81,600
ALIOIZ2Y 29 257,560 226,120 31,440
[ 77,268
2 180,292
307 Q1201 & 257,560 226,120 31,440
[ 77,268
2 180,292
10 AFSIS XA ST 2HY B X 257,560 226,120 31,440
OAILIOIZE 294l XY 250,000,000 *14] 250,000
[ 75,000
2 175,000
OANLINZE SAR HRMA
7,560,0002 * 14! 7,560
[ 2,268
2 5,292
LOIBAL X2 190,253 140,078 50,175
[ 12,600
2 177,653
elimE= SN 29,500 29,500 0
307 212H0| & 29,500 29,500 0
11 AFBI S XA 2 & 29,500 29,500 0
OLQNEXNAL+WEXE  3,500,0008 14! 3,500
owols=rs 29 11,000,000 *14! 11,000
OwQl AZ0PLH0I 2% 15,000,008 *14] 15,000
Lolojg BAL 23,000 31,000 8,000
201 Y2 Al 1,000 1,000 0
01 Ab2 22l 1,000 1,000 0
oLpt42H| 1,000
OLololy sA AT KX
100,0002 %10 1,000
307 QI2H0| & 22,000 30,000 8,000
04 DI2FSHAL AL B & 22,000 30,000 8,000
OwQlo Y A 22,000,000 *14! 22,000
L OIZHE JIEF A} 11,000 11,000 0
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SA:

FU=X4A
Y Lo=X B
Chel: oI AL XIR (ctel:®2l)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
307 eI2tol & 11,000 11,000 0
AR SAAIE 22X 11,000 11,000 0
oaditl=a I 1,000,000 * 14 1,000
OLNASAISY ZAUa FIINA
1,000,000& *14] 1,000
OLQIHOIESMHE L &IIX
5,000,000& *14] 5,000
ORHL HNX A 4,000,000 14 4,000
OB ole &AL 33,000 33,000 0
201 €erE gl 1,000 1,000 0
01 At22t2ll 1,000 1,000 0
oget+=EH| 1,000
Ooltoly HAF ZE M
100,000& %108 1,000
307 212tol & 32,000 32,000 0
M ARISTIAIE 22X 32,000 32,000 0
O0H0le HAIXE 32,000
Ozt ALK 12,000,000 141 12,000
Osdge A 20,000,0003 14 20,000
tiete0lsl 32AdZAs 2ZAA 51,753 35,578 16,175
307 212tol & 51,753 35,578 16,175
03 QnHMHE2SHHIEX 51,753 35,578 16,175
Oolst=0ls Xzl 2SN 51,753
o=gHl 15,000, 0003 14 15,000
OALS & o121 24,753,000 =14 24,753
OAR=E 228 2x 12,000, 0003 141 12,000
Colgl AMY XI& 42,000 0 42,000
= 12,600
e 29,400
307 el2tol & 42,000 0 42,000
S 12,600
e 29,400
N ARISXIAEE £ 42,000 0 42,000
O o3 Lollfs 243 AMEXH
30,000,0003 14 30,000
= 9,000
[a 21,000
O elg T2 AR
12,000,0003 141 12,000
& 3,600
[a 8,400
d2g=geds 1,839,082 1,851,486 212,404
= 162,416




SN FoI=RA
HH: Lol=X =
ol FRYSABAE =LY
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
== 261,798
o 1,414,868
2¢ 28 X 456,600 368,400 88,200
301 YetB A= 456,600 368,400 88,200
01 AZIEEH 2563 456,600 368,400 88,200
ogerdze 2%l XA (30 013t)
300, 000& 1754 2«43 210,000
ogetEzd 29H| X2 (31~50)
450,000 & #9104 A= *4 3] 163,800
oYstdzy 29| X (519 0l4)
600,000 *27 4 2 *4 3 64,800
Oo=3Zdzg 23l XA
450,000& * 1070 2= *43] 18,000
2E dgy ¥ 2= A& 649,664 589, 268 60,396
= 162,416
= 162,416
o 324,832
301 YetB A= 106,064 106,068 A4
= 26,516
= 26,516
o 53,032
01 AZIEEH 2063 106,064 106,068 A4
oZdzg &34l XN& 106,064,000 14 106,064
= 26,516
& 26,516
i 53,032
307 SIZ2t0I A 543,600 483,200 60,400
= 135,900
= 135,900
o 271,800
10 ASISEXANEHE2IHEX 543,600 483,200 60,400
ozdzg Hetd| X& 1,600,000 *302H 2~ 483,200
= 120,800
& 120,800
i 241,600
ozdzg eyl X3 200,000 3027 2~ 60,400
= 15,100
= 15,100
o 30,200
izd et XIR(0ISSAIE 28 162,500 162,500 0
301 L8 a3 162,500 162,500 0
01 AZIEEH 2563 162,500 162,500 0
OZ=2Y H&Hl FILXI& 500,000 *3029H 2~ 151,000
O0lSE Z8Y Sl X2 (100H4)
11,500, 000& 14 11,500
12Y Eds T2 148,600 37,096 111,504
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SM: FU=RA
Ha: Lo=x =3
el ZRE2IEL5 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
= 73,800
i 74,800
307 QI2+0I A 148,600 37,096 111,504
& 73,800
i 74,800
11T AL =S XA 2 & 148,600 37,096 111,504
S ZAHs Fot 1,000,000 * 14 1,000
OZ=2Y &43t T2 147,600,000 1A 147,600
o= 73,800
o 73,800
Z2Y =3 Z ekt 29 48,516 46,438 2,078
= 14,555
o 33,961
307 2I2+0I A 48,516 46,438 2,078
= 14,555
o 33,961
11 AZISXAIEEX 48,516 46,438 2,078
OZ2Y=3ZZ ) 2el Xt 48,516,000& 1Y 48,516
= 14,555
o 33,961
229 2L AMS 100,000 100,000 0
402 212t E01 & 100,000 100,000 0
01 Q2R 2AIL E X (KA ) 100,000 100,000 0
OZ=2Y cI2EIAMY 100,000,000& 14! 100,000
22Y ARQEE K& 200,000 200,000 0
402 212t XHE01 ™ 200,000 200,000 0
01 Q2R 2 AL E X (KA E) 200,000 200,000 0
0OZ2Y A= A 200,000, 000& 14! 200,000
COXNEXR LMK 3,090 3,020 70
& 927
s 2,163
307 2I2+0I A 3,090 3,020 70
o= 927
s 2,163
A SXAIEE X 3,090 3,020 70
OLQXEX LENEXEA 3,090,000 * 14 3,090
& 927
s 2,163
2 AU2FH=E XA 18,532 18,120 412
& 2,780
s 15,752
307 2I2+0I A 18,532 18,120 412
o= 2,780
s 15,752

—_




SM: FU=RA
Ha: Lo=x =3
SR EX=L VL (B9 &8)
_ - PoRE |
SA - ZH - ESA(E) - MRAY - BES 0l st St HIRE2
TCELNCEES 18,532 18,120 412
OF2Y MN2IPS2 XY 18,532,002 14 18,532
= 2,780
2 15,752
COGIEIZIUDTRE ALY 8,800 8,800 0
= 2,640
2 6. 160
307 212+01 & 8,800 8,800 0
= 2,640
2 6. 160
e NCEES 8,800 8,800 0
O=QIOIIIZZ BN PEZ 200,0002 «440H 2 8,800
= 2,640
2 6. 160
22g Pz N 27,180 27,180 0
307 212+01 & 27,180 27,180 0
EEE 27,180 27,180 0
0Y2Y 22 N 90, 0002 *3027H 2 27,180
COXER M2 DY 15,600 14,000 1,600
= 4,680
2 10,920
307 212401 & 15,600 14,000 1,600
= 4,680
2 10,920
e eSS 15,600 14,000 1,600
O=QINEX M2 WEH 7,600,002 14 7,600
= 2,280
2 5,320
OwQIoIM o ALY DE  8,000,0008 14 8,000
= 2,400
2 5,600
COSTAY 22 2 SYXH 2,129,480 1,993,640 135,840
= 18,000
= 707,824
2 1,403,656
W= XIANE A 2 140,000 188,944 148,944
= 42,000
2 98,000
307 212+01 & 140,000 188,944 148,944
= 42,000
2 98,000
NEE N EEEEETEES 140,000 188,944 148,944
OMIH-A=RAE 2YH| NS
140,000,00024 %144 140,000
= 42,000
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SN EZoI=RA
Hal: LoI=X B
ool CoEXAA 22 Y 2N (S91:&8)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
| = 38,000
2z osg=s2 Nd 386,000 360,000 26,000
307 212tol & 386,000 360,000 26,000
10 AlRISXAEHI2IBIE2X 386,000 360,000 26,000
OFYx LosEg=sN2 1A 386,000
(@)elFal:] 280,460,000 * 14! 280,460
o=gl 105,540,000 * 14| 105,540
LOISXAIE SAHA ML 16,020 9,240 6,780
S 3,204
o 12,816
307 212t01 & 16,020 9,240 6,780
T 3,204
= 12,816
10 AlRISXAEHE 282X 16,020 9,240 6,780
CyIZ LAZE=EX2 SAHL XN
10,620, 0003 141 10,620
S 2,124
e 8,496
OMIIE=ASKAIE SAR X 2INE8I
5,400,000& *14] 5,400
S 1,080
e 4,320
COQANLHFTOISELY) AL 36,000 100,000 264,000
= 18,000
[ 9,000
= 9,000
402 212t 201 A 36,000 0 36,000
= 18,000
T 9,000
a 9,000
02 IR EALEE (01X THE) 36,000 0 36,000
OLURLAANE &F JIs2d AY
36,000,0002 14 36,000
= 18,000
& 9,000
[a 9,000
COMEANL FIRALE X (NESH) 940,910 812,160 128,750
[ 470,455
[a 470,455
308 AtXIEHMSOIH 940,910 812,160 128,750
= 470,455
[a 470,455
10 S 2S0ItHetE & A S A I 940,910 812,160 128,750
O=QMEAE HIQYZH X (MNESH)
940,910,000 * 14 940,910
[ 470,455
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>

SA:

=SIEN
HE: o=y ZA
el LOI=XAL 22 Y 2HXY (=L R0
- — _ AN LS
S B (3H) - NEAY - BES Ofl &b o4 oﬂgo% HDE2
| = 770,955
Tt QI ZD | QUuEE XA (MI20) 610,550 478,949 131,601
°c 183, 165
= 427,385
308 AHXISHSOIA 610,550 478,949 131,601
< 183, 165
= 427,385
10 I 2SHHSHE AN AE ALY 610,550 478,949 131,601
OLQEIQAUEE EL4Z(MISN)
610,550,000& x 14! 610,550
< 183, 165
= 427,385
SZAIAIE 22| & &= 158,735 165,985 ANT,250
SAFAIE 22| & 29 158,735 165,985 ANT,250
101 21 A d| 73,075 71,725 1,350
04 J|12tHI22XsSE 4 73,075 71,725 1,350
OF2 2 AHHl €« XCEA o822 23,075
oorg 160, 000& 153 x9L 21,600
O2g| 3,000& x15H x9 405
Odtl & D 1,070,000 x 1Al 1,070
OSHZEESZA M= 50,000,000 %13 50,000
201 dEt2HH| 18,660 16,260 2,400
01 AP 22|t 8,400 8,400 0
O YBt=ZH| 8,400
OSotE 201AH| & Y HIOIE ==
600,000 x12& 7,200
OAI22teld| 100,000 x12& 1,200
02 =294l 10,260 7,860 2,400
02Z22=2 % HMAl 7,260
O242otd M3 500,000 x12& 6,000
OxF228 221X 0|s83 65,0008 *128 780
O&3 & oY 2E 40,000 x12& 480
OAE&EHI S A b 3,000
OxF222 AIZA&HIKX8] 3,000,000 14! 3,000
202 O44]| 1,500 1,500 0
01 =2LH0d| 1,500 1,500 0
OF2EIA AL L2FE 2K HI
20,000& *x1Hx75L 1,500
206 TH 24| 5,500 5,500 0
01 X =4I 5,500 5,500 0
O=2=22 ZAZIMB(XL, ZHBHZ 8) &
ol 1,000,000 *33] 3,000
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SM: FU=RA
3 d=sXs8d
Sl OHAASE U AADBS (S91:&8)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
307 2IZ2t0I A 11,293 14,400 A3,107
= 3,388
o 7,905
10 ASISEXANEHE2ZHEX 11,293 14,400 A3,107
OS=E2AHAANY SAX 2124 FIHAA
11,293,000 14! 11,293
& 3,388
s 7,905
IHE - 4=Z84gh 2SR 89,451 44,867 44,584
& 17,890
s 71,561
307 SIZt0I A 89,451 44,867 44,584
= 17,890
s 71,561
10 ASISEXANEHE2ZHEX 89,451 44,867 44584
OJIE - dZHNMEL 2ENE
89,451,000 14 89,451
& 17,890
i 71,561
dZ9 OtE =, J0H0 2X A 9,360 9,360 0
201 LB 1,360 1,360 0
03 HAH2 S HI 1,360 1,360 0
O8ZEY, JId==, SOH0H 2X 2HHC L W
= 680, 000& *23| 1,360
307 SIZ2t0I A 8,000 8,000 0
11T AIS =S XA E X 8,000 8,000 0
OJE=EH, (d=E S Y s2 MY
500,000 *43| 2,000
OIIEZHUIoHA 3= T2
1,000,000 *4 2t =2 4,000
OO0tsEAEUY ZH0Y WS &Al
500,000& *4 2] 2,000
R0t EH0EW=S 8,000 8,000 0
& 4,000
i 4,000
307 SIZ2t0I A 8,000 0 8,000
& 4,000
i 4,000
11T AL =S XA E X 8,000 0 8,000
OX0PI= ZEHWY WS 8,000,000 *14] 8,000
= 4,000
i 4,000
HE=sANLwsIA 55,700 55,700 0
& 5,000
i 50,700
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SN FoI=RA
LRV PEENESSS

Cel: HE=XZLNFEX (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
LHBESF2HI|IEAMY 21,000 21,000 0
o= 2,000
o 19,000
201 Y EH2 | 1,000 1,000 0
01 At 2teltl 1,000 1,000 0
OAHESF2HAL ZEI M=
100, 000& =104 1,000
307 SIZt0I A 20,000 20,000 0
& 2,000
i 18,000
11T AL =S XALE 2 & 20,000 20,000 0
OLHESF2IEHALXA 20,000,000 *14) 20,000
& 2,000
i 18,000
HEunsId L s 7,500 7,500 0
201 YEr2 ] 2,400 2,400 0
01 At 2teltl 2,400 2,400 0
oget~ZH| 2,400
Oget~=ZH| S AR 22/8l  100,000& 128 1,200
OZgH Ed=g 300,000& *43| 1,200
202 044l 5,100 5,100 0
01 =20 YI 5,100 5,100 0
OWEU23ER 2 =TI
20,0003 «3H +35& 2,100
OWdC2ad R 22 =0
50,0003 *3H 20 3,000
HEASIZEHES EHXA 21,200 21,200 0
201 Y EH2 | 7,000 7,000 0
03 HAH2ZHI 7,000 7,000 0
OWdlIstat=zd ZAt=E
150,000 *402] 10 2~ 6,000
OWdw=s & A ScHItE - A ZHE
50,000& *203] 1,000
301 Yt A= 5,700 5,700 0
09 EAtAHIZE A= 5,700 5,700 0
OZ=EEE &z A 30,0003 45 1,350
OLdPSF2I|GHAL &4 10,0003 x225F 2,250
OR&a AlMA 4 40,000 »30H 1,200
OYHTS L HADY DT A
10,0002 *90H 900
307 212+0I A 8,500 8,500 0
11T AL =S XA 2 & 8,500 8,500 0
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SA:

ZoI=x A

3 d=sXs8d
ol A=Y RS (EEEEED
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
OFLZHLHME 23 At
8,500,000 * 14! 8,500
LEBES WS 6,000 6,000 0
& 3,000
i 3,000
201 2 EH2HH| 6,000 6,000 0
o= 3,000
s 3,000
03 HAH2ZHI 6,000 6,000 0
OLHESU= 300, 000& »203! 6,000
& 3,000
i 3,000
ALEIHE =4 631,039 594,948 36,091
| 169,645
T 67,301
i 394,093
CHEStE X1 631,039 564,948 66,091
| 169,645
o= 67,301
o 394,093
CG2etEXdH 29 147,500 137,830 9,670
| 73,750
= 22,125
s 51,625
307 2I2+0I A 147,500 137,830 9,670
| 73,750
& 22,125
i 51,625
11T AL =S XALE 2 & 147,500 137,830 9,670
OU=sIEXNNAMYH 2
147,500,000 * 1JH 2~ 147,500
| 73,750
= 22,125
s 51,625
ZE0|2X SHAMEIA X2 (AHA) 25,433 23,475 1,958
307 212+0I A 25,433 23,475 1,958
10 AL SXAIEHE2IHIEX 25,433 23,475 1,958
OCLI23IIE SHANUIA XA (HEYN) 25,433
OQI2AHI (SHAAL 1,745,150« 1H *12& 20,942
(O)SESESE= =, 166,260 x1H 128 1,996
OMEEH 1,745, 1503 x10%* 1H « 128 2,095
OCg&Ed 200,000& x1H +23] 400
=0 29 22,163 22,162 1
| 15,514
o= 1,994
o 4,655
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SN EoI=xa
M HALEIHE |4
thel: Ch2SHEX (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
307 2IZ2t0I A 22,163 22,162 1
| 15,514
& 1,994
i 4,655
11T AL =S XA E X 22,163 22,162 1
O&t=0us 24 22,163,000 14 22,163
| 15,514
= 1,994
o 4,655
OG22 tEXNJAME SAL MM X 14,040 12,600 1,440
& 2,808
o 11,232
307 QI2+01 A 14,040 12,600 1,440
& 2,808
o 11,232
11T AL S XA 2 X 14,040 12,600 1,440
OU SIS JALEH SAL HRIM48I
14,040,000& * 14! 14,040
= 2,808
o 11,232
CH23E 028 AtY 87,313 67,333 19,980
= 26,200
o 61,113
307 2IZ2t0I A 87,313 67,333 19,980
& 26,200
o 61,113
M AISXAIEEX 87,313 67,333 19,980
OLEstH S At 87,313,000& 14! 87,313
= 26,200
o 61,113
Ct23E X2 Bt 48,000 40,000 8,000
201 LBt 10,000 10,000 0
01 At 22l bl 10,000 10,000 0
O Et==H| 10,000
OU2eINEXNJEH 223 M
1,000, 000& *43] 4,000
OXIt S Re= HE 2,000, 000& 24! 4,000
OtU=2s W=s & AL S Let=EH|
500,000& *43| 2,000
307 SIZ2t0I A 12,000 10,000 2,000
11 A SXIAISE E 12,000 10,000 2,000
OCIRIIE 2aey aauD
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A SXAIEE X 900 1,000 A 100
ONEAE NEX Z2 0 150,000% «6Y 900
= 270
s 630
OIS &8 B RS (EZ) 6,550 15,550 A9,000
= 1,965
s 4,585
301 L8 a3 6,550 15,550 A9,000
= 1,965
o 4,585
01 AZIEEE 2563 6,550 15,550 A9,000
Oolt=ssts&d N 6,550,000& 6,550
= 1,965
s 4,585
OlS=ESXNHLUNSSSMEIA(SEAEE THAl) 30,000 27,136 2,864
201 LBt 30,000 0 30,000
03 HAH2 S HI 30,000 0 30,000
O=23. B A2 HMEHA =
30,000, 000& 14 30,000
Ots=<XI& 914,342 507,000 407,342
= 640,054
& 137,144
s 137,144
301 et azg 914,342 507,000 407,342
= 640,054
& 137,144
i 137,144
01 A3l EHE =06ll3 914,342 507,000 407,342
O0ts+=ZXI& 914,342,000& 914,342
= 640,054
= 137,144
o 137,144
Ots=% XIXAM Atdl XI& 292 0 292
2 204
= 44
i 44
201 LBt 292 0 292
= 204
[ 44
o 44
01 At 22|l 292 0 292
OO0ts=Y XIXtAM Atdl X 292,000& 292
2 204
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D =oI=X Al

L e}

D otsEAdE X
HOIE=DNE]

o
n

[:&&)

SA - ZH - ESA(E) - MRAY - BES

=1p

pym
JgH

O

Sl

M HY

7
44

M

146,400

73,200
73,200

146,400

M

146,400

73,200
73,200

146,400

g & 146,400,000

M

146,400

146,400

73,200
73,200

146,400

M

3,000

900
2,100

3,000

M

3,000

900
2,100

3,000

3,000,000

M

3,000

3,000

900
2,100

3,000

HHH

312,451
128,115

45,449
138,887

287,908

24,543

25,000

20,000

5,000

25,000

20,000

5,000

25,000,000& *13

25,000
25,000

20,000

5,000

H A

174,480
87,240
26,172
61,068

166,560

7,920

307 glz2tol &

H

174,480
87,240
26,172
61,068

166,560

7,920

10 Al SXAEHE2SHIEX

OX<otsdE 2SS A& 174,480,000&

A

174,480
174,480

87,240
26,172
61,068

174,480

OtS =X WAKIZ

SRt

70,843

35,421
10,627

61,624

9,219
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2A:
X XH -
(==l I

=a R

SIS
OISEAE X2
OlS AL LA X

EERED

= A

« B .

S (3AH) - MIRA -

e

04 4 o

k=4 pal

pym
JgH

HJ

24,795

101 €l

v
[

A

69,343
34,671
10,402
24,270

60, 124

9,219

03 2IIHA2ZE2NE
OO0t = Xl ALK

M 4

(4zEams)

69,343,000 * 14

H

69,343

69,343
34,671
10,402
24,270

69,343

202 o4l

A

1,500
750
225
525

1,500

01 2LHAYI

O=HHI 1,500,000 * 14!

H

1,500
1,500

750
225
525

1,500

NS HEHZRA HLMLH KR

M

9,360

1,872
7,488

8,640

720

307 glztol &

M H1

9,360

1,872
7,488

8,640

720

10 ARISTANEEE2SHI2X

OXHOISME 22X XML K&
9,360,0002 14!

M

9,360

9,360

1,872
7,488

9,360

M

14,160

2,832
11,328

14,160

307 glztol &

M1

14,160

2,832
11,328

14,160

10 A STAEHE2HHI2 X
)

OXFotsdE X

o
e
o

14,160,0003 141

M

14,160

14,160

2,832
11,328

14,160

M

7,700

2,310
5,390

7,000

700

307 glztol &

M1

7,700

2,310
5,390

7,000

700
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SA:

SIS

HE: OlSHAE KR
el OlsSAIEYHALX A (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
M ARISXAIE E X 7,700 7,000 700
O0tsZAMet K& 100,000 +77H 7,700
= 2,310
i 5,390
ER 2N 3,648 2,664 984
= 1,824
T 547
i 1,277
307 212+0I ™ 3,648 2,664 984
= 1,824
T 547
i 1,277
10 Al SXAEHE2LHIEX 3,648 0 3,648
OER 2 3,648,000 14 3,648
= 1,824
< 547
i 1,277
S=XNA0tsHE 22 X& 7,260 7,260 0
= 3,630
T 1,089
i 2,541
307 glz2tol & 7,260 7,260 0
= 3,630
o= 1,089
[ias 2,541
10 Al SXAEHE2LHIEX 7,260 0 7,260
OR=XA0tsHdH 228 K&
7,260,000 14! 7,260
= 3,630
T 1,089
i 2,541
HAEXA 763,265 551,898 211,367
= 15,456
| 219,713
< 18,144
i 509,952
A RIE(Hs0tY) 24,000 24,000 0
= 9,600
i 14,400
307 212+0I A 24,000 24,000 0
= 9,600
[ias 14,400
M ARISXAIE E = 24,000 24,000 0
OFAH=EIE 23 24,000,000 14! 24,000
= 9,600
i 14,400
HFAESO2 XA 5,648 5,648 0
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800
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SA:

Q=X
T OISHAY X E
&l FAERA cel )
- _ — PoRE |
FHB - ER(EH) - MRAY - B S 04 4 o St ==l
202 044l 500 500 0
01 SLHO B 500 500 0
OHAHESY 9 & odhl
20,0003 «5H «53] 500
FAEMESEXHEH 22 75,000 65,000 10,000
307 glz2tol & 75,000 65,000 10,000
10 Al SXAEHE2LHIEX 65,000 65,000 0
(OFSENISEAS= £ PNFull= Ir-apeJu] 65,000
OelAtl 33,000,000 * 14! 33,000
Oo=4gdl 32,000,000 14! 32,000
N AMSISXMBEE 10,000 0 10,000
OHAUES A2 &2t 10,000,000 * 14! 10,000
K SAAS & A HEE KR M A (CYSNet ) 2 H 93,720 92,300 1,420
| 46,860
i 46,860
307 212+0I A 93,720 92,300 1,420
Jl 46,860
[ias 46,860
10 SIS XIAIEHE 93,720 0 93,720
OXIA AR EAHE M (CYS-Net) 5
93,720,000 100 2 93,720
| 46,860
i 46,860
A SEAHEZ2 27,820 10,740 17,080
| 13,910
i 13,910
307 212+0I A 27,820 10,740 17,080
| 13,910
[ias 13,910
10 ALRISXIAIEEE N 27,820 10,740 17,080
(OF=ENCIR 1IN =23
27,820,000& 14! 27,820
Il 13,910
i 13,910
SESC FAENE & 82,060 111,200 229,140
Il 57,442
i 24,618
307 212+0I ™ 82,060 111,200 229,140
| 57,442
i 24,618
10 ALRISXIAIEEE 82,060 111,200 A29,140
OtutE A~ H BEY) 24l
82,060,000% * 14! 82,060
Il 57,442
i 24,618
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SN FoI=RA
HH: OlSHAE X8
= = EAL S DR (el 8 d)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
Stu St FAEXE 12,500 12,500 0
= 5,000
[a 7,500
307 212tol A 12,500 12,500 0
= 5,000
[a 7,500
10 Al STAEHE 282X 12,500 12,500 0
Ot mY AW NANZSHDHUHAEAM
B At =) 12,500,000 *14] 12,500
= 5,000
= 7,500
StuEsE oY 27,000 26,386 614
D) 13,500
= 13,500
307 21z2tol A 27,000 26,386 614
D) 13,500
[a 13,500
10 Al STAEHE 282X 27,000 0 27,000
Ostu==H0 27,000,000 *14] 27,000
D) 13,500
= 13,500
a4 Fot =M A2 25,000 39,000 14,000
307 212tol & 25,000 39,000 14,000
N ALRISAAIEE X 25,000 20,000 5,000
oF4d Ea=EAH 25,000,000& * 14 25,000
HAEMESAHE AHY =& 20,000 20,000 0
= 6,000
T 14,000
307 212tol & 20,000 20,000 0
S 6,000
T 14,000
N ARISAAMEE X 20,000 20,000 0
OBAE MEZTHE ALXH
20,000,000% *14] 20,000
= 6,000
[a 14,000
F2UYEFAUE SALR XA 9,570 10,440 A870
T 1,914
[a 7,656
307 el2tol & 9,570 10,440 A870
S 1,914
T 7,656
10 Al STAEHE 282X 9,570 0 9,570
OFAE AGSXNHE SAR MR
9,570,000 *14] 9,570
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SA:

Z=oI=T| A
3 otsdEAE X3
el HAEXR (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
= 1,914
o 7,656
BAdEAd 2F AJ3E 2,000 2,000 0
= 1,000
o 1,000
307 2I2+0I A 2,000 2,000 0
& 1,000
o 1,000
11T AL =S XA 2 & 2,000 2,000 0
OFAE A4 2SS 29
2,000,000 14! 2,000
= 1,000
o 1,000
HAEZ23OY 23 116,000 115,504 496
307 2IZ2t0I A 116,000 115,504 496
10 AL S XAIEHE2IHIEX 116,000 115,504 496
OFAYURsoY 29| X 116,000
Ol 33,000,000 14 33,000
(@F=y=:4] 83,000, 000& 14! 83,000
HAEAHLXA 7,193 4,480 2,713
= 3,597
& 1,798
i 1,798
308 AtXIHHSOIH 7,193 0 7,193
= 3,597
= 1,798
o 1,798
10 B2 SOIHE B & H A EALS I 7,193 0 7,193
OFATALXNA(MASS HEFEAYE AME
Z X) 7,193,000 14! 7,193
= 3,597
& 1,798
s 1,798
HAAYNRSOIH0I0 228 K& 163,402 0 163,402
| 81,701
s 81,701
307 SIZt0I A 163,402 0 163,402
| 81,701
s 81,701
10 ASISEXANEHE2IHIEX 163,402 0 163,402
OHAHYWMZ OO0l 22l
163,402,000 * 14 163,402
| 81,701
i 81,701
FAEENSOIHH0l 2 FIOHAA 50,492 0 50,492
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SA:

Z=oi=x|a
HE: OlSHAE X
Rl Fadxd (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
307 eI2tol & 50,492 0 50,492
10 AlRISXAEHE 282X 50,492 0 50,492
OHAHL U200 28 FIOHNHA 50,492
Os4adl FI0tX& 2,300 x40 #2264 20,792
O4UEE JI22E3 28,333,000 x32 12% 10,200
OHMl=¢ 6,500,000 3 19,500
A LUSO0HOI0I SAA MRIHAH| 2,160 0 2,160
T 432
= 1,728
307 212t01 & 2,160 0 2,160
& 432
= 1,728
10 ARISXALEE2HEI2X 2,160 0 2,160
OFAE Y= OFItHI0l SALA X4 &8l
2,160,000 * 14| 2,160
T 432
o 1,728
Fad SEXNE MY 7,000 0 7,000
D) 4,900
o 2,100
301 2BtE A3 7,000 0 7,000
D) 4,900
= 2,100
01 M EF A= 7,000 0 7,000
o3ad SEXE MY 7,000,000 14 7,000
D) 4,900
a 2,100
Foer=ssa 4,146,012 4,973,179 AB27,167
= 1,632,048
= 494,754
e 2,019,210
S URSIRS = gel e DN 1,844,010 1,610,047 233,963
= 1,126,630
& 215,034
[a 502,346
oIS AL Xtel At 52,668 57,684 A5,016
= 26,334
& 7,900
= 18,434
101 1A ] 52,668 57,684 A5,016
= 26,334
T 7,900
a 18,434
04 J1ZtN 22 NHSE =+ 52,668 57,684 /5,016
(OF=JU/ S E=DNR=PN I 52,668,000 *14] 52,668
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SM: FU=RA
HM: ZOHQI=RSE
Chel: ZoelMEotE X2 CERED)
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
= 26,334
& 7,900
= 18,434
Foj et LNl AL 322,258 176,240 146,018
= 161,129
S 48,339
e 112,790
101 2124 322,258 176,240 146,018
= 161,129
= 48,339
e 112,790
04 J1ZtHZ22 S+ 322,258 176,240 146,018
oozt & xtel 322,258,000 * 14! 322,258
= 161,129
T 48,339
o 112,790
=== (0Ix) 94,086 96,768 A2,682
= 65,860
= 8,468
e 19,758
301 LN = 94,086 96,768 A2,682
= 65,860
& 8,468
[a 19,758
01 ARl 2 & & 45l = 94,086 96,768 A2,682
oFM=<(Ix) 94,086,0003 14 94,086
= 65,860
S 8,468
o 19,758
o= (Xtae 8) 71,971 76,090 24,119
= 50,380
= 6,477
[a 15,114
301 LN = 71,97 76,090 A4,119
= 50,380
& 6,477
= 15,114
01 ARl 2d & 45l = 71,971 76,090 A4,119
OFM+g (X2 S) 71,971,000 =14 71,97
= 50,380
S 6,477
e 15,114
o= =ItAI& 25,200 34,560 A9,360
= 7,560
e 17,640
301 2etE &= 25,200 34,560 29,360
S 7,560
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SN FoI=RA

M ZYU=XSH

el ROHQIMEOIE X8l (e dE)

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2

o 17,640

01 M EF A 6= 25,200 34,560 A9,360
OFM+===IIX= 25,200,000 *14] 25,200
S 7,560
o 17,640

oA S 1,081,714 987,99 93,718
= 757,200
= 97,354
[a 227,160

301 detEH = 1,081,714 987,99 93,718
= 757,200
& 97,354
= 227,160

01 M EF A= 1,081,714 987,996 93,718
ossdMA=z 1,081,714,0002 =14 1,081,714
= 757,200
= 97,354
e 227,160

ZOoHI 2l = HI 65,905 46,260 19,645
= 52,724
& 3,954
= 9,227

308 AtXIEHMSOIH 65,905 46,260 19,645
= 52,724
T 3,954
a 9,227

10 S 2S00t & A2 E A 65,905 46,260 19,645
ol o= 65,905,000 *14] 65,905
= 52,724
= 3,954
[a 9,227

I SF Ayl 1,202 1,486 N284
= 601
[a 601

301 LN = 1,202 1,486 A284
= 601
e 601

01 A2 A 6= 1,202 1,486 A284
OFMASF At 1,202,000 *14] 1,202
= 601
[a 601

SEHM=E 70,980 65,520 5,460
= 21,294
[a 49,686

301 LN = 70,980 65,520 5,460
= 21,294
e 49,686
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A FREXA
M Fopersxsad
Chel: ZoelMEotE X2 CERED)
Pl
£ () - NIRAIY - BHES Ofl &K l()ﬂE}oEH Hnsz
01 At 2E 53 70,980 65,520 5,460
OR=RHM=Y 70,980, 0003 14 70,980
& 21,294
= 49,686
SANAHZ= ZOHQl =24d] 12,000 10,800 1,200
& 3,600
= 8,400
301 LEtEAZ 12,000 10,800 1,200
c 3,600
s 8,400
01 At 2E 53 12,000 10,800 1,200
OZMAF FHOpel=I1H 12,000, 0002 * 14! 12,000
& 3,600
s 8,400
SSE0Me =Hl KA 21,222 23,580 A2,358
& 6,367
= 14,855
301 LEtE A S 21,222 23,580 A2,358
c 6,367
s 14,855
01 AZIEEH 2063 21,222 23,580 A2,358
OZEH =Hl NJAAE
21,222,000 *14] 21,222
& 6,367
= 14,855
ZOHQIAIZERIZ Ktel 24,804 33,063 A8,259
= 12,402
[ 3,721
o 8,681
101 2124 4] 24,804 33,063 A8,259
= 12,402
c 3,721
o 8,681
04 D122 2R SE+ 24,804 33,063 A8,259
OZOHRIAIZEMI L K2 24,804,0009 * 14! 24,804
= 12,402
& 3,721
= 8,681
ZOHCI M EAI A X & 1,340, 162 2,649,649 A 1,309,487
= 22,350
[ 167,136
o 1,150,676
ZOHQUMEOISKRHH 2 228,531 204,000 24,531
307 2Izrol A 228,531 204,000 24,531
10 AMIISXNAEHE2IHIEEX 228,531 204,000 24,531
OHLT MEOISXNIALH 29 228,531
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SN FoI=RA
M eI =X S
SRl DOHQIMBAILK

(&4

- _ PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
Oelztl 183,006,000& * 14 183,006
o=24gdl 41,325,000 14 41,325
ogdz 350,000& 123 4,200
Hoje! =stsAdH 29 203,200 187,509 15,691
307 2120l & 203,200 187,509 15,691
10 Al SXAEHE2LHIEX 203,200 186,459 16,741
OFLZ3SAHH 29 203,200
OelAtl 185,644,000 14 185,644
Oo=4gd| 17,556,000 14! 17,556
SOHQIBOIAE IR ME 2 60,472 58,705 1,767
307 glz2tol & 60,472 58,705 1,767
10 Al SXAEHE2LHIEX 60,472 58,705 1,767
QAIZEOIQAEHJAIL X EEHZS S 60,472
OelAtl 47,386,000& 14 47,386
Oo=4gd| 13,086,000 14! 13,086
Ol OISAIE 22X MIHEH 15,480 29,120 A 13,640
T 3,096
i 12,384
307 glz2tol & 15,480 29,120 A 13,640
< 3,096
i 12,384
10 SIS XA EHE2EHIEX 15,480 29,120 213,640
OZHROIEAE SALL MM
15,480,000& 15,480
T 3,096
i 12,384
Foe! MNAMEANLE 22 S XA 387,365 393,333 A5,968
T 58,105
i 329,260
307 glz2tol & 387,365 393,333 A5,968
T 58,105
i 329,260
10 ALZIS XA EHE2HHIEX 387,365 393,333 A5,968
OHMHAXMLMEANE 2H S K&
387,365,000 * 10 2~ 387,365
o= 58,105
i 329,260
HOHAMATHEAIE SANHRMA 14,000 14,000 0
o= 2,800
i 11,200
307 2I2+0I A 14,000 14,000 0
< 2,800
i 11,200
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SN FoI=RA

M ZYU=XSH
SRl JOoHl A LR (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
10 AlRISXAEHE 282X 14,000 14,000 0
OZMAXNLMEAE SAA MM
14,000, 0003 141 14,000
T 2,800
o 11,200
U NUTHEANE SSZUNUES+E 3,200 3,360 A160
T 960
o 2,240
307 212t01 & 3,200 3,360 2160
T 960
= 2,240
10 AlRISXAEHE2IBIE2X 3,200 3,360 2160
OZUMAXNAMEANE SSZMWALZS+H
3,200,000 * 14 3,200
S 960
o 2,240
ZOHAMETHEAIE JISEH 44,700 43,686 1,014
= 22,350
= 1,175
[a 11,175
402 212t =01 A 44,700 43,686 1,014
= 22,350
& 1,175
= 11,175
02 IR EALE X (01X THE) 44,700 43,686 1,014
OFMAXNATNEAL JISEL(HHIEZ XS
ZEIIAD 44,700,000 * 19 2~ 44,700
= 22,350
= 1,175
[a 11,175
NE2Zoelsi2 g2 24 X2 201,214 145,012 56,202
307 el2tol & 201,214 145,012 56,202
10 ARISXALEE2EEI2X 201,214 145,012 56,202
ON=ZI=EA2 22 2 N2 201,214
oozl 150,898,000 *14] 150,898
o=2gHl 50,316,000 14 50,316
FOHASAAIL OHE & N2EZ2 8 23t 182,000 1,562,000 21,380,000
= 91,000
[a 91,000
401 Al HIZ SO 182,000 1,562,000 A 1,380,000
= 91,000
e 91,000
01 A& H] 182,000 1,562,000 A 1,380,000
oFMe SXAE e 182,000,000 * 14! 182,000
= 91,000
[a 91,000
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D FoI=RA
= TEIEINEFS
L FOHQIE RN A

- _ — Pl
SA - HH SR (B) - MRAY - BAS St
ZOH =X MEIAX R 961,840 713,483
= 483,068
& 112,584
i 366, 188
ORIl & SAL 23,000 24,100
307 SIZt0I A 23,000 23,000
04 DIZFEHALALSE 2 = 23,000 23,000
QZ0Helel & A XI& 23,000,000 13l 23,000
ZOHel2ted JIEFEE AL 9,500 18,200
307 2IZ2t0I A 9,500 9,500
02 SIZtAAMAIEE X 9,500 9,500
Osoteloly HALEA XA 1,800,000& 123/ 1,800
ONAZHOIZZ A B 41X &
1,500,000 13l 1,500
QEXZolo LA FAX 1,500,000& 13l 1,500
OXMZ Ol LAt FAX
2,500,000 *13l 2,500
OFMeIZ=ZEL HAX 1,500,000& * 18] 1,500
QeI =&JIUE EHILK&A 700,000 %13 700
ZOHQ A =4 X3 6,000 6,000
307 2IZ2t0I A 6,000 6,000
1 ARISXAIEE X 6,000 6,000
OZOMUH sS4 X 6,000,000 * 14 6,000
MOtEOHe! M&IX AS 10,000 10,000
307 SIZt0I A 10,000 10,000
11 AZISXAEEX 10,000 10,000
OOt &K AS 10,000, 000& 13l 10,000
oSl EXI|F W2 1,875 1,875
= 1,500
& 112
i 263
301 et azg 1,875 1,875
= 1,500
= 112
o 263
01 AZIEEH 2563 1,875 1,875
OZOHel HEEXRDIIF WS 1,875,000 14 1,875
= 1,500
& 112
s 263
ZOHQI THE AL B 19,515 19,515
307 SIZt0I A 19,515 19,515
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SN FoI=RA
Ha: ZjOI=N S

ol ZOHQI =X MHIAKIR EEEED
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
M ARISXAIE E X 19,515 19,515 0
OZ O & AL I 19,515,000 * 14 19,515
2. 2F 0 =X 2,300 2,000 300
& 690
i 1,610
301 et ag 2,300 2,000 300
& 690
i 1,610
01 A2 EEH 063 2,300 2,000 300
OZFLFHMHAASAIS XA
2,300,000 * 14 2,300
& 690
i 1,610
OIFSEOHC AZZ&H K& 5,000 4,000 1,000
& 1,500
i 3,500
301 et ag 5,000 4,000 1,000
& 1,500
i 3,500
01 A2 EEH 063 5,000 4,000 1,000
ODIFHEHHAHAZZAXA 5,000,000 *14) 5,000
& 1,500
i 3,500
ZoelAZdwal 2HRA 10,000 10,000 0
= 3,000
i 7,000
307 SIZt0I A 10,000 10,000 0
& 3,000
i 7,000
11T AL =S XA 2 & 10,000 10,000 0
OZOjOIANLRA 2 X
10,000, 0003 * 100 & 10,000
T 3,000
i 7,000
ZOHQI HOJAIME 2SS AL 44,400 14,000 30,400
2 4,400
o= 12,000
s 28,000
401 Al & HIZ L 0HHI 44,400 14,000 30,400
2 4,400
& 12,000
i 28,000
01 Al&HI 44,400 14,000 30,400
OFOHLI HOYAIE A= 40,000,000& 14 40,000
& 12,000
i 28,000
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A FU=EX4A
I Foe=sxsd
& HOASTAMEIAXS (

sl
40

&)

Hlw

Ol
)

SN B ERI(B) - MSAY - BeS 0l &t

=1p

pym
JgH

4,400,000& * 14! 4,400
4,400

H

I BEXNAN LS 564,706 411,405 153,301
395,294
50,824
118,588

HHH

308 XtXISHMS0IH 564,706 411,405 153,301
395,294
50,824
118,588

HH A

| ICHEtE & 8 2 & ALE I 564,706 411,405 153,301
OIS XNEANT 2& 564,706,000 14! 564,706
395,294

50,824
118,588

HHH

SSHLESELEFOINE 89,720 89,720 0
26,916
62,804

M

308 AtXIHMSOIA 89,720 89,720 0
26,916
62,804

M

IS
0
S
=]
2
2
o
0¥

>

M AEALS I 89,720 89,720 0
£=Jb 89,720,000 * 14! 89,720

26,916
62,804

©

o

0l

0z 0in
2

e

L

O
o

M

ol MEF=E X 9,024 15,000 A5,976
2,707
6,317

M

301 LetB A= 9,024 15,000 N5,976
2,707
6,317

M

SHEH=06S 9,024 15,000 5,976

©
02 o
2
e
[Pl
Ho
1
Jn
U
Paa
o
>
Q

9,024,000 » 14! 9,024
2,707
6,317

M H1

S THEMHIA 82,033 42,851 39,182
57,423
7,383
17,227

HH A

308 XtXIEMSO0IH 82,033 42,851 39,182
57,423
7,383
17,227

A

SIS0t etE oS AS A 82,033 42,851 39,182
OLEMHE NI A 82,033,000 14 82,033
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D FoI=RA
= TEIEINEFS
L FOHQIE RN A

(&4

SA - ZH - ESA(E) - MRAY - BES

=1p

pym
JgH

Hlw

Ol
)

H A

57,423
7,383
17,227

HAHLE X R A

H A

2,423
1,696
218
509

2,160

263

308 NtAIEMSO0IE

H A

2,423
1,696
218
509

2,160

263

IS}
3]
.
]
n
i)
o
o
o
0z
1%
4
Jo

©
2
2
g
mn 2
Pl
0
=
%

At HI

2,423,000& * 14!

HH H

2,423
2,423

1,696
218
509

2,160

263

0
2
e
i
03
1
4>

2l XI&

M

10,094

3,028
7,066

10,000

94

307 glztol &

M1

10,094

3,028
7,066

10,000

94

10,094,000 * 14|

M

10,094
10,094

3,028
7,066

10,000

94

M

933

280
653

933

M1

933

280
653

933

I S M
OFMHEEF HMEST| 4

XA
933,000 * 14|

M

933

933

280
653

933

lo
02
L
or
Y
e
=
e

in

1,000
1,000

800

200

H

1,000
1,000

800

200

1,000,000 * 14!

in

1,000
1,000
1,000

800

200

10,000

10,000

10,000

10,000
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SA:

I‘I il-l:

ZoI=x Al
ZOHQI =X S

Rl FA=SXAEIAXA (&2 dd)
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
AR SAAIE 22X 10,000 10,000 0
OS=+usUyOts MEXZH K&
10,000,000 * 174 2 10,000
L SES MHHu: X 3,220 3,220 0
201 282 3,220 3,220 0
02 524l 3,220 3,220 0
0ss2= & HMA 3,220
OHMASES PEUT 2=
3,220 1,000 3,220
ZOHQ MHEZ2 )l 2 13,350 13,350 0
307 el2tol & 13,350 13,350 0
ARSI STIAIE EX 13,350 13,350 0
OZHe! MEZ=18 2 13,350,000 * 14 13,350
Foeasid dods =¥ 840 840 0
201 224l 840 840 0
01 At 22l 840 840 0
OSSN A HARAZ =&
70,0003 x1Hx12& 840
22X s 1,321 454 867
= 925
= 119
o 277
308 AtXIHMSOIH 1,321 454 867
= 925
= 119
T 217
10 SJ2S0HestE & "2 E A 1,321 454 867
OESEX 2N 1,321,000 *14] 1,321
= 925
= 119
= 2r7
FoeIsAgRFA 10,400 0 10,400
201 224l 4,700 0 4,700
01 At 22l 4,700 0 4,700
oget+=EY| 4,200
OZX S M2E &3Hl  200,000& *12E 2,400
O25 s+ % S=2SMA 50,0002 %128 600
OFfe AL HFI M=
100,000& 12 1,200
OZ A& 500
OZOHUANAINS 2 AL=E  500,000&*13] 500
202 ol 5,700 0 5,700
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SA:

ZoI=x Al

HH: HH=NSA
el ZoESXMEIARIR &)
- _ — PoRE |
SH B ER(BIH) - NRAY - BES St 2
01 S LHO B 5,700 0 5,700
O©Zoh el 50,0003 «3H 38 5,700
LEHQ 2SS AHHIAXRA 19,186 0 19,186
= 13,430
T 1,727
i 4,029
308 XXM S0 19,186 0 19,186
= 13,430
o= 1,727
[ias 4,029
10 SO 2SOIHE 2 &4 E A EALS B 19,186 0 19,186
OLYTIfO FLHESAHIAK R
19,186,000 14! 19,186
= 13,430
T 1,727
i 4,029
LEIOHQ LU= SSHHA KR 12,000 0 12,000
= 8,400
= 1,080
[ias 2,520
308 A+XIEHAl 12,000 0 12,000
= 8,400
= 1,080
i 2,520
10 BJ12&= M2/ E ALY 12,000 0 12,000
ogEx SSMBIAXIA
12,000, 000% * 14! 12,000
= 8,400
o= 1,080
[ias 2,520
FoI M3 890,415 1,000,033 A 109,618
= 175,509
< 32,067
i 682,839
FOUSAH 243 464,482 462,482 2,000
Hz2s 22X 195,872 195,872 0
201 B2 19,300 19,300 0
01 AFR 22| 10,200 10,200 0
Og gt 9,600
o=z S ahak= 12,0002 800 9,600
o1l=4l 600
OJtzsael 224 d8l=
150, 000& x2H +23] 600
02 3323 9,100 9,100 0
0332= 700
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SM: FU=RA
s ZOIMHT|
el FUSA 243 A (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
OLAMNYUINSEE = 700,000 %13 700
Ot H I 8,400
OnaHHI 700,000 12 8,400
202 o4l 4,800 4,800 0
01 =W A 4,800 4,800 0
OIIZSEHIAE =80l
10,0002 2202 122 4,800
206 M =l 70,800 70,800 0
01 =4 70,800 70,800 0
OQIZ2E =W L(LHESH IR 9T)
70,000,0003 14 70,000
OJzsS+d S 800,0003 14 800
401 AIE2HIRL 204 100,972 100,972 0
01 Al &2 H] 100,000 100,000 0
OEHIIZSEX 500,000 *12IH 2100 S & 60,000
OsASLHES wAH ALY 500,0002+30S 15,000
OL=IIE2S WHA 500,000 «50S 25,000
03 Al2 =TI 972 972 0
O8.8tzs 41Xl 60,000,000& +0.9% 540
Osx= Woiot2s WA 15,000,000& *1.08% 162
OL=It2S WA 25,000,000 %1.08% 270
Ut=sSAL & 29 64,060 64,060 0
201 €erE gl 7,600 7,600 0
01 At 22l 7,600 7,600 0
oget=EH| 7,600
Olt=sSA2e 29 Lit+-8Hl
200,000& 203! 4,000
Oll=ssAeld S AN &4
6,000& «300H 1,800
OlISSAI2Y SEME AT Y
6,000 *300H 1,800
202 ol 960 960 0
01 =W ol 960 960 0
Olt=sSA2Y 28 g7 =80
20,0002 x3E *16& 960
206 =4l 25,500 25,500 0
01 MZH 25,500 25,500 0
Olt=sSAe 2=
150,000 x65+202] 18,000
O0A2tE & LUXNLSES SHAMEMNL
500,000& x 15t 7,500
301 LN = 30,000 30,000 0
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SA:

FU=X4A
s ZOIMHT|
el FUSA 243 A (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
09 AtAHIE o= 30,000 30,000 0
OlI=SAI2e 4K Ed3
1,500,000& 202 30,000
HEH2SAES I 18,000 18,000 0
301 LN = 18,000 18,000 0
09 AtAHIE &= 18,000 18,000 0
OCdNESANES BLNEdS
10,0002 1508 « 122 18,000
QXY 2 34,000 34,000 0
201 et gl 2,000 2,000 0
01 At22t2ll 2,000 2,000 0
oflaxcld 24 2,000,000& *14] 2,000
307 eI2tol & 32,000 25,000 7,000
AR SAAIE 22X 32,000 25,000 7,000
OZAX Y 2HAA 32,000,000 *14] 32,000
Ol 29 75,000 73,000 2,000
307 el2tol & 75,000 73,000 2,000
ARSI STIAIE EX 75,000 73,000 2,000
oolsgde =24 75,000
O0lsgcHEA 2823 A
58,300,000& 14 58,300
O0ls&cH2d X =23 11,000, 0003 141 11,000
OO0l S LR AtHH 5,700,000& *14] 5,700
Oed2otd ad8Et=I] At X2 40,000 40,000 0
206 M=l 30,000 30,000 0
01 M=l 30,000 30,000 0
OFEHI=I M= (1085¢)
30,000, 0003 14 30,000
301 LN = 10,000 10,000 0
09 At HIE &= 10,000 10,000 0
OZBHEIIFI| NESAA 4K 243
10,0002 %1008« 105 10,000
AASARS 2 A 15,000 15,000 0
307 212tol & 15,000 15,000 0
04 QIZFSHAAIH B X 15,000 15,000 0
OXASALAS & A 15,000,000 12l 15,000
AASAEY s &AL XIE 10,640 10,640 0
301 2BtE a3 10,640 10,640 0
09 AtAHIE o= 10,640 10,640 0
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SA:

Fo=X4
s ZOIMHT|
el FOIZA 2HE AR (S91:&8)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OXESAES A 243
10,000 x70H x12& 8,400
OXESAMu=E HAX SEHI
8,000& +70H +43| 2,240
HESAELE KR 11,910 11,910 0
201 et A 6,750 6,750 0
01 At 2teltl 3,600 3,600 0
oget~ZH| 3,600
O3L=XNYRFN EXUH S MREE &3l
200,000& =122 2,400
OZely Ed 72¢ 300,000& 43 1,200
02 3223l 3,150 3,150 0
0332= ¥ HAl 750
OX0Pt=sSMHE2E IHE 282
600,000& *12] 600
OXOopt=sSAIHd=2dE Xteg AsSXHAl
150,000& * 13 150
OXt & ett| 2,400
OXOPIt=sAIH2F Xtg 200,000& 128 2,400
202 ¢4l 960 960 0
01 S LHOYI 960 960 0
Os|Y=XNXE =&Y 20,0003 x2H 24 960
206 M= d| 4,200 4,200 0
01 M=l 4,200 4,200 0
OHOPI=SAH2E MY
700, 000& *6It = 4,200
DA 66,600 67,100 A500
T 5,000
i 61,600
FAZXNIANEEE AN 29 56,000 48,000 8,000
307 glz2tol & 56,000 48,000 8,000
10 ALZIS XA EHE2HHIEX 56,000 48,000 8,000
OXGAMEHEAM 2 56,000
O2gHl 15,000,000 * 14! 15,000
ool 41,000,000& 1 41,000
.9 NGASEEAN 29 5,600 5,600 0
301 LetB &S 5,600 5,600 0
09 EAtAHIZE A= 5,600 5,600 0
O05.8 NIA=SXNE2ANM 2 AL =&l
8,000& » 1402 +52] 5,600
NAMSIEZSEAM 243t 2E X2 5,000 0 5,000
< 5,000
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SM: FU=RA
Ha: FOIMEX S
ool pIEE (S91:&8)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
307 eI2tol & 5,000 0 5,000
& 5,000
10 Al SXAEHI2IBIE2X 5,000 0 5,000
OXAAS EEEAT Ba5 X2
5,000,000 »1JH 2 5,000
= 5,000
KNSA=SXABIA S A 278,755 370,251 291,496
= 112,331
= 19,167
[a 147,257
AT At 22l At KT 11,986 11,986 0
= 5,993
e 5,993
201 €erE gl 5,550 5,550 0
= 2,775
[Ea 2,775
01 At 22l 5,550 5,550 0
OArl 22l At Et=Z4| 5,550
OSgAtd 2222 2l 4,500,000 14 4,500
= 2,250
[a 2,250
OAtell2telzlel #44d 70,0003 x5 *32] 1,050
= 525
[a 525
202 ol 900 900 0
= 450
[a 450
01 =LHO Y 900 900 0
OSE At Zel Xt =40
50,0002 »3H 6 900
2 450
= 450
301 2BtE A3 5,536 5,536 0
= 2,768
= 2,768
01 A EF A 6= 5,536 5,536 0
OArf 220t X2 (M2, MII12s S)
5,536,000 » 14| 5,536
= 2,768
a 2,768
SHS Atdi2elAtgll X2 84,000 84,000 0
= 58,800
a 25,200
201 224l 37,800 37,800 0
= 26,460
a 11,340
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SM: FU=RA
s ZOIMEX
&2 XNGFRAHIA AN (&2l &)
- _ PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
01 AtR2t2ltl 32,580 34,146 A 1,566
OAtRZelHI(AtIglel 29, E2H §)
32,580,000 14! 32,580
= 22,806
i 9,774
02 2323l 5,220 3,654 1,566
O332ZHI(¢AEXZ0l 0182)
14,5003 *30CHx 128 5,220
= 3,654
i 1,566
301 Yt A= 46,200 46,200 0
= 32,340
i 13,860
01 AZIEEH 2563 46,200 46,200 0
oS AtdZelot+ K& 46,200,000 * 14 46,200
= 32,340
i 13,860
SErAtell 22l A el Hdl K& 95,076 94,548 528
= 47,538
= 14,261
i 33,277
101 1A 4] 95,076 94,548 528
= 47,538
< 14,261
i 33,277
03 RIHA2Z2NHE > 95,076 0 95,076
OSEAtdlZelA e1AHI (D123, 123, 4T
28, S, Al2tel=g) 31,692,000 «3H 95,076
= 47,538
= 14,261
i 33,277
grArel 2tel Ab X2 (XHAI) 2,340 2,340 0
201 2 EH2EHI 2,340 2,340 0
02 2323l 2,340 2,340 0
o332= % HMAl 2,340
Oo=Xges olsd
65,0003 «3H 128 2,340
SIY=X(H=IIS)XNEE 29 85,353 84,377 976
= 4,906
[ias 80,447
201 2 EH2HH| 2,000 2,000 0
01 At 2t2ltl 2,000 2,000 0
OSEAtcll 2l 23 2,000,000 14! 2,000
202 44l 7,000 6,500 500
01 SLHOYI 7,000 6,500 500
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SN FoI=RA
M3 EOIMEX R
Sl KY=XIMEIA S (S91:&8)

1%

AR

S BE - SR (EIH) - HIRA

k=4 pal

pym
JgH

0,000& x5 70

7,000

206 = d|

M

6,299

1,890
4,409

5,823

476

01 =4l

OAtedl2tellt+ NIEE238 78
6,299, 0003 » 14!

M

6,299

6,299

1,890
4,409

5,823

476

(%]
2
e
r
HT
0z
oy

M

1,600

480
1,120

1,600

=2
O=RXJt7 ¢= ZALA &Hl XI&
10,000& 160

M

1,600

1,600

480
1,120

1,600

307 glz2tol &

M

68,454

2,536
65,918

68,454

60,000,000& 14

M H1

68,454

8,454

2,536
5,918

60,000

68,454

HHH

80,578
63,178
7,900
9,500

100,200

19,622

HHH

78,978
63,178
7,900
7,900

99,000

A20,022

HH A

78,978
63,178
7,900
7,900

99,000

N20,022

& 78,978,000 * 14|

HHH

78,978
78,978

63,178
7,900
7,900

99,000

N20,022

USS XX (XA

1,600

1,200

400

202 ¢l

1,600

1,200

400
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SA:
X ZH -
[

ek

ISEREY
yrere
I oz Uit
oA

> o >

[0 rio

(&4

LR EAS

S (3AH) - MIRA

Ofl & 24

k=4 pal

pym
JgH

Hlw

Ol
)

01 2LHOIL
OSXEANY =& 0l

20,0003 ~2H *40

1,600
1,600

1,200

400

At

MHIA T

H A

397,500
318,000
23,850
55,650

397,500

MSI MUl A S

HHA

397,500
318,000
23,850
55,650

397,500

KAXSE MBIMHIA SXAF (XIS AFSI A HIA)

A

397,500
318,000
23,850
55,650

397,500

H A

3,000
2,400
180
420

3,000

01 At 2t2lH|
OXIFASI MHIA SXALY 22|
3

,000,000& * 14!

YRR

3,000

3,000
2,400
180
420

3,000

308 XtXIEMS0IH

H A

394,500
315,600
23,670
55,230

394,500

10 S 2S0ItHetE & A S A I

QXIS A2 MHI A FRALY

394,500,000 * 14!

YRR

394,500

394,500
315,600
23,670
55,230

394,500

o
0L
>
x
o
H0
08

A

515,910
28,986
81,319

405,605

425,845

90,065

HHH

515,910
28,986
81,319

405,605

425,845

90,065

M

317,904

21,976
295,928

288,527

29,377

307 giztol &

Hl

317,904

21,976
295,928

288,527

29,377
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SN FoI=RA
Hal: GAZAME 29

el THESAHEE 22 X2 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
02 SIZtAAMAIHE X 282,904 268,527 14,377
OAlZ NHRSAHE 23| 282,904
QoAb s 195,000, 000& * 101 A 195,000
O2ZHl 87,904, 000% * 104 2 87,904
< 21,976
i 65,928
1 AISXAIEE X 35,000 20,000 15,000
OSHLAXEAMS (ES e, WZIIAY)
20,000,000 * 14! 20,000
OR=+ttM NFSAZZIH K&
15,000,000 *14] 15,000
SHES NSAM HEHH &X 29 78,000 84,000 6,000
T 39,000
i 39,000
201 YEr2 ] 39,000 42,000 A 3,000
& 19,500
i 19,500
03 A2 HI 39,000 42,000 A3,000
OSHE NASAH HEHH 22|
3,900,000& <105 H 39,000
T 19,500
o 19,500
301 Yt A= 39,000 42,000 A3,000
T 19,500
o 19,500
09 HAAHIZ &3 39,000 42,000 A 3,000
Osts UEASAH HEHH AHIXIZ
3,900,000& 105 & 39,000
o= 19,500
s 19,500
A SAELSX2(RASAH DOUIOIH SEXE) 55,250 42,056 13,194
= 27,625
s 27,625
307 2I2+0I A 55,250 42,056 13,194
= 27,625
o 27,625
05 BIZtRAE S 55,250 42,056 13,194
OXEESA 2OUIOIH S4XIA
55,250,000 * 14 2 55,250
= 27,625
s 27,625
A SAELHSN (IS NI SAZEINL ML A 2,722 2,59 126
X&)
= 1,361
i 1,361
307 212+0I A 2,722 2,596 126
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SN FoI=RA
g TASAHEH 29
Rl FASAMAE 29 X3 (el 8 d)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
= 7,307
T 1,361
02 It AIHE X 2,722 2,596 126
OXASA 2801 MHIA X2
2,722,000 * 14 2,722
= 1,361
[a 1,361
H3 ANEUSAHIASA 25 8,666 8,666 0
= 4,333
[a 4,333
307 212tol A 8,666 8,666 0
= 4,333
[a 4,333
02 eIt A E X 8,666 8,666 0
O3 AHEUS AR SAt S 8,666,0008 *14] 8,666
= 4,333
[a 4,333
=0t NHESAH ROUIOIH 24 53,368 0 53,368
= 16,010
[a 37,358
307 21z2tol A 53,368 0 53,368
= 16,010
[a 37,358
05 QIZtRIE = 53,368 0 53,368
O¥=0IE T SAL 2ZOIUHI0IEH 2d
53,368,000 * 17K 2 53,368
= 16,010
= 37,358
FUSASEAHA 17,256 18,320 A 1,064
SAHEA S A2 17,256 18,320 A1,064
Setx Atz g R 17,256 18,320 A1,064
201 Yere | 11,256 11,920 £664
01 At 22l 3,600 4,000 2400
oget=EH| 3,600
O S AMRE &3Hl  200,0002 122 2,400
OXZegH 7Y 300,000& 43| 1,200
02 ==&l 7,656 7,920 A 264
0352= & HAl 7,656
OsgxAr2te] 2AUS o=
55,0002 11CH= 12 7,260
OSE XA RBR= 33,0002 *12& 3%
202 Ol 6,000 6,400 2400
01 2 LHOHI 6,000 6,400 2400
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SM: FU=RA
Hal: FO=XNSEN
&2 SN SEXAR2te (&2l &)
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OSg A2 2 =
20,0003 *4H 50 4,000
OSET A2 R 22 FHHH
50,0003 *4H *10& 2,000
Hegs(F=a=sx4) 231,008 227,000 4,008
LIS HHXKIE 231,008 227,000 4,008
LHEHHXIE 231,008 227,000 4,008
701 JIEt HEEES 231,008 227,000 4,008
01 JIEt3l AN ES 231,008 227,000 4,008
Od=2=0II= SE3H 883
231,008, 000& 14! 231,008
HY2IFHI(FUSXA) 103,840 82,360 21,480
Jl=&Hl 103,840 82,360 21,480
JI=234 103,840 82,360 21,480
201 et A 51,620 52,600 A 980
01 At 2teltl 45,120 45,000 120
ogBt=24] 21,600
OZN=2g =8| 1,800,000& x12& 21,600
O= gl 8,000 »28H 105 23,520
02 3323l 6,500 7,600 A 1,100
0332= ¥ HAl 6,500
OXSZHAl 200,000& 23] 400
OXNsxEE= 600,000 = 1CH 600
Od=ed -8l 2ERZ  250,000& 128 3,000
OXtg - detdl 2,500,000 «1CH 2,500
202 044l 26,880 24,960 1,920
01 S LHO B 26,880 24,960 1,920
©f61:]] 80,0003 «28H «12& 26,880
203 =& 5,340 4,800 540
04 FA2IHRFEH 5,340 4,800 540
ORN2ILRF=AHI 445,000 123 5,340
405 KHobE SHI 20,000 0 20,000
01 ML =S FH=HI 20,000 0 20,000
Qs SADI 7 10,000, 000 »2CH 20,000
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